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1) Tknow the price of coffee is $1.00 per unit and the price of Tylenol is $.50 per
unit (for our graduate student consumer, this is all they consume!). I also know
that the consumer is currently purchasing 4 units of coffee and 6 units of Tylenol.
[ also know that the marginal utility of coffee at a bundle the consumer is buying
is 1 the marginal utility of Tylenol is 3. The graduate student has an income of
$7.00 per day.

a. Describe how we know the bundle in question lies on the budget line
(rather then below the budget line in the opportunity set or above the
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b. "Explain why the point where the consumer has the marginal utilities

described above is not the Opﬁl;’lal bundle.
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(_ c. Is the optimal bundle going to be composed of more coffee and less
Tylenol or less coffee and more Tylenol than the consumption bundle the
consumer is currently at? Why?
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d. Show on graph that illustrates indifference curves and budget constraints
where the consumption bundle described in the introduction to this
problem lies in relation to the optimal bundle.
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2) Indifference curves.
a. Draw an indifference curve where the two goods in questions are perfect

complements, and then draw one where the two goods in question are
perfect substitutes. Provide examples of the goods in cach scenario (make

up a story).
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b. Is the shape of indifference curves influenced by changes in market }4/' & m g

prices? Why or why not.
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¢. Why can’t indifference curves cross?
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3) If p1 =4, p2=3, and Y=48
a. Draw the budget constraint.
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b. Draw the budget line if the price of good one changes to p1 = 2 all else
constant, and then to pi = 6 all else constant.
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4) The price of food is $50 per unit, the price of all other goods is $10 per unit, and
the consumer’s income is $500.
a. Draw the consumer’s budget constraint.
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b. If the consumer’s income changes to $1000 by being given a cash grant of
$500, draw the new budget constraint.
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c¢. Ifthe consumer from the_%rigm%tﬁ)roblem (with an income of $500) is
given $500 in food stamps rather than a cash grant of $500, draw the new

budget constraint.
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d. Show an examhfle of an indiffere%eﬁ curve where the consumer is made
equally well off by either a cash transfer or a food stamp program.
[ Blilustrate using the budget lines of b and c.
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5) Say that you know for a particular consumer and particular consumption bundle
the marginal utility of consuming eggs is 10 and the marginal utility of consuming
bacon is 15.

a. The negative of the ratio of these marginal utilities defines the slope of
what curve?
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b. Ifthe price of a unit of eggs is 4, the price of a unit of bacon is 3, and the
consumption bundle defined above is on the budget line, why is the
consumption bundle identified above not an optimal bundle? &
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c. Should we increase egg consumption and decreage bdcon consurmiption,
increase bacon consumption and decrease egg consumption, increase both,
or decrease both to arrive at the optimal bundle? Illustrate your reasoning
on a graph or graphs.
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